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Each of the following questions consists of a simple statement describing an event, followed by four
alternative explanations of that event. Please indicate which of the four you think is the best, by writing
the number 5 in the $pace next to it. Then rate each of the other alternatives from 0 to 4, where a 0 would
mean that you thought it was completely inadequate, while a 4 would mean that you thought it was almost
as good as your first choice. Note then that you must rate one, but only one alternative on each question
a 5. Even if none of the choices seem entirly satisfactory, choose the best and give that a 5. Then all of
the others are rated relative to that best one. The three remaining choices can be rated all 4’s, or zil s, or
anything in between, such as for instance a 4, a 2, and a 0, or two 3’s and a 1.

Many of the choices assume that some facts are true, and of course the brief description given does not
provide any facts. Assume that the facts in each alternative are true in deciding how good they are.

1. A IS GETTING A DIVORCE,

—————A. There are a number of ways of looking at A’s getting a divorce. Emotionally he feels
one way about it and morally he feels another way about it. There is no one way A
understands it. ’

B. A is getting a divorce because he and his wife fight constantly. Thus, there is a
specific reason for the divorce.

C.  A’s getting divorce is the current stage in the development of his emotional detachment.
This development began several years ago and has passed through many previous 'stagefs.

D. A is an immature person., He’s the kind of person who has never been able to maintain
a close relationship. ‘ ‘

" 2. B IS BORROWING A LOT OF MONEY.

A. There are many ways to look at B’s borrowing a lot of money. Economically he feéls
one way about it and emotxonaﬂy he feels another way about it. There is no one way

.....

——B. Bis a big spender. He is the kind of person who could be expected to buy things
before he’s saved up for them,

C. Alan is borrowing a lot of money because he wants to buy a new car. Thus, there is
a specific reason for his bofrowing money at this time.
. "\
D. B’s borrowing money now is one stage in the development of his dependability. This
development has roots in his past and there are stages in the future through which he
will pass.

3. C IS TAKING A VACATION.

A. C is taking a vacation at this time of the year because he wants to go to Europe but
can’t afford the usual rates. Thus ,there is a specific reason for his taking a vacation
now.

B. This presént vacation is one sage in the development of C’s ability to relax. This
development began several years ago and has passed through many previous stages
prior to reaching its present point.

C. Cis a funloving person. He’s th® kind of person 'who really enjoys visiting new places.

There are many ways to }ook at C’s takmg a vacation. Socially he feels one way about
it and economlcalfy he feels” another way. “There’s no one true way € understands it.

b
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4. D 1S TAKING A NEW JOB. .

——A

th

D is taking a new job because he wants more creative challengmg work Thus, there
is a specific reason for his taking a new job at this time. C .

D is a real go-getter. He is always striving to get ahead. He’s the kind of person who
could be expected to get into new things.

There are several ways to look at D’s taking a new job. Monetarily I} feels one way
about it and professionally he feels another way. There’s more than one way D sees it.

D’s taking a new job is one stage in the development of his competence: This develop-
ment began~ several vears ago and passed through many stages before reaching its
present state.

E IS MOVING TO A NEW PLACE TO LIVE.
— A

E is moving to a new place to live because last week he received: a notice that his
apartment building was being torn down. Thus, there is a specific cause for moving
to a new place. S

There’s no one way to look at E’s moving to a new place. Socially he feels one way
about it and economically he feels another way. There are many ways E understands it.
. - -

E is a drifter. He’s the type of person who has never put.any roots down and is
always moving around.

E’s present move to a new place is only one stage in the development of his independence.
This development has roots in the past and there are stages m the future through which
E will pass on his way to adulthood.

6. F IS STARTING COLLEGE.

e AL

D,

. ENUY o ]
F is a good student. F is the kind of person who have always done well in school and
could be expected to go to college et

There are several ways to look at F’s starting college. Economically he feels one way
about it and intellectually he fcels another way. There are several ways F looks at
this event.

F is starting college because he wants to become a doctor. Thus, there is a definite
reason F is starting college now. ’

F's starting college is one stage in his intellectual development. This development began
several years ago and has passed through many stages before reachmg its present level.

PR EER S

7. G’s INCOME IS INCREASING.

e W

G’s present income increase is a part of the development of his -earning power. This
development began during his teenage years with his ﬁrst job and has progressed
through several stages to its present stage.

G’s income increased because he is union negotiated a mew contract that provided for
2 pay increase. Thus, there is a specific cause for the increase in G’s income.

Thete are many ways to. look at G’s income increasing. Professionally he feels one

- Wway “dbout it“and ‘écondmically he looks at it -anothér way. There are many ways G

understands this event.
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G is an aggressive guy. He’s the kind of person who knows how to take advantage
of a business opportumty

8 H IS NOT DOING HIS JOB.

—A..

—B. .

e O

—D.

H is a rather incompetent person. He’s the kind of person whos always making
mistakes.

H’s not doing his job is part of a larger pattern of reacting to increased responsibility.
This pattern began when he was quite young and developed through his teenage years.

. H is not doing his job because he thinks the machines at his plant are old and unsafe.
. Thus, there is a definite reason why H is not doing his job.

There are many ways to look at H’s not doing his job. Professionally he feels one way
about it and psychologically he feels another way. There are many ways H looks at it.

9. J HAS EMOTIONAL PROBLEMS.

— A,

—D

. young.

J’s present emotional problem represents the current stage in the development of his
ability to handle stress. This development began several years ago when J was quite

PO P N

' There are several ways to look at F’s having problems. Socially he feels one way about

it and intellectually he feels another, way. There’s no one way J looks at it.

J has emotional problems because his wife left him recently. Thus, there is a specific
cause for J’s emotional problems.

J is very nervous person. He’s the kind of a person who could be expected to have
emotional problems.

- 10. X IS STARTING A NEW BUSINESS.

P
~A
—

B,

e C,

 There are many ways to look at K’s starting a new business. Monetarily he feels one

way about it and professionally he feels another way about it. There is more than
one way K sees it.

- K is a person who is not afraid to take a risk. He is the kind of person wha could be

expected to start a new business. '

K’s starting a new business is the current stage in the development of his initiative.
This development began several years ago and has passed through several stages prior
to the present one.

=P K is starting a new business because his old business was wiped out in a fire. Thus,

there is a specific cause for a new business at this time.

.11, L IS PAINTING A PORTRAIT.

——-—-—A

—B.

—_—C..

L is a very artistic, creative person. He’s the kind of person who expresses his feelings
by painting.

L is painting a portrait because he has promised to do a family portrait for. a friend.

"Thus there is a specific reason for his painting ‘a portrait at this time.

There are many ways to look at L’s painting a portrait. Professionally he feels one

» way about it and economically he feels another way. There are many ways he looks

at it. '
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L’s painting a porirait is one stage in the development of his artistic style. This
development began years ago and has passed through several previous stages.

12. M IS GIVING PARTY.

- W

—B.

M is a very sociable, outgoing person. He’s the kind of a person who is always organising
some party or get-together.

There are many ways to look at M’s giving a party. Socially he feels one way about
it and physically he feels another way. There is no absolute way M looks at it.

M’s present act of giving a party is best seen as the present stage in his social development.
M through several phases prior to this present one. This present behaviour makes
sense as part of the current stage in his development.

M is giving a party because his parents are celebrating their 25th wedding anniversary.
Thus, there was a definite reason for his giving a party at this time,
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